

https://www.youtube.com/watch?v=tHyDHUkcN2o

Source A
Adapted from Lenin’s ‘Theses for Peace’, published in the official Communist newspaper ‘Pravda’ in
February 1918.

1. The condition of the Russian Revolution at the present moment is such that practically all the workers
and a large majority of the peasants are on the side of the Soviet Government and the social revolution.
In that respect the success of the Socialist Revolution in Russia seems assured.

2. At the same time the civil war which was caused by the furious resistance of the propertied classes
has not reached its highest point. In the end the Soviet Government will win the fight, but it will take
much time and a good deal of energy, and a certain period of disorganisation and chaos incidental to
every war and especially civil war is inevitable before the bourgeoisie is finally crushed.

3. Furthermore, the resistance of the bourgeoisie in its less active and non-military forms such as
sabotage, bribing tramps and other hirelings of the bourgeoisie to join the Socialist ranks with the
purpose of undermining their cause, has proved to be so obstinate and capable of assuming such
varying forms that it will take time, several months perhaps, to put it down.

Source B



Edward VI: The Boy King - David Starkey

1. How old was he when he inherited the throne?

2. How was Edward’s birth received by the country and why?

3. What did the Act of Succession state in relation to Edward, Mary and
Elizabeth?

4. Who was Richard Cox and why was this essential to Edward’s upbringing?

5. What instructions had Henry left regarding his death and control of the
kingdom?

6. What actually happened? Who emerged as successor?

7. How old was Edward when he became King and why was his coronation
controversial?

8. What were Edward’s intentions regarding religion?

9. In what ways did Catholicism remain in local parishes? Give examples.

10.What changes happened to religion initially? Give examples.

11.



